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Question Number : 45 Question Id : 630680703410 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
iR et & o T R cdta = Reio urfie e & srual @ emia Susf &R sras Te) @l 9w R $fika 2
Options :

1. 8 ReTee Fafeen

2. 8 IS HaER e
3. % Gl dgR fRifbdn
4. & HANTA fefdhedm

Family Planning
Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Is Section Default? : null

Question Number : 46 Question Id : 630680700294 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
aspect of health acknowledges the fulfilment and richness that work brings to a person’s life.
Options :
1. ¥ Physical
2. % Mental
3. 7 Occupational
4

. < Spiritual

Question Number : 46 Question Id : 630680700294 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1.8 Qﬂﬁﬁaq‘
2. % AHRS
3. / RS
4. © NS

Question Number : 47 Question Id : 630680700216 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is the potential risk related to failure of female sterilization?
Options :
1. ¢/ Ectopic pregnancy
. 8 Qvarian cysts

<3

2
3. 9 Increased fertility
4. <~ Hormonal imbalance

Question Number : 47 Question Id : 630680700216 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Afge THed! Bi fawaar 9 Jeid guifda sifeq Faffea g a s arg?
Options :

1. 7 3rTa Tfawn
2. % SR gfewT

3. % oA A gl
4

Question Number : 48 Question Id : 630680700295 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The is a loose non-latex pouch with a flexible ring at each end that sits in the vagina, to stop sperm from getting into the uterus.
Options :
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Physiology

Section type : Online

Section Negative Marks : 0

Enable Mark as Answered Mark for Review and Clear Response : Yes

Maximum Instruction Time : 0

Is Section Default? : null

Question Number : 1 Question Id : 630680700169 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fluid represents the 2/3 of Total Body Weight.
Options :
1. ¥ Transcellular fluid compartment
2. ¥ Interstitial fluid
3. ¢ Intracellular fluid
4.

% Extracellular fluid

Question Number : 1 Question Id : 630680700169 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A PAIRR P YR B 2/3 UG IR B
Options :

1. ¥ URBIRIBI &d B

2. 8 SRR Ed

3. AADIRPA 5

4. % BIRTBIETE 59

Question Number : 2 Question Id : 630680703367 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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The __ cavity contains the urinary bladder, uterus/ prostate and rectum.
Options :
1. ¥ Cranial cavity
2. ¢ Pelvic cavity
3. ¥ Abdominal cavity
4

. ¥ Thoracic cavity

Question Number : 2 Question Id : 630680703367 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

_ TRTH ARE, THiRREARS S SR AaR™ BId § 1
Options :

1. % BUY fga

PR IR

3. 8 IR Tel

4. < 9& gl

Question Number : 3 Question Id : 630680700252 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Where are lymphocytes formed?
Options :
1. ¥ Cranium

. < Bone marrow

2
3. & Trabeculae
4

©

Spinal cord

Question Number : 3 Question Id : 630680700252 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

o IIgey w8l a1 82
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Options :
1. ¥ DT
2. 7 3R HT
3. % qH
4.8 TS

Question Number : 4 Question Id : 630680703368 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

During muscle relaxation, the ___ covers the active site on actin.
Options :

1. ¥ Myosin

2. % Titin

3. ® Troponin

4. <7 Tropomyosin

Question Number : 4 Question Id : 630680703368 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

U= R & RM, _ Ufde Rl I1ge o1 sgd axdl o
Options :

1. ¥ AEIRE

2. % fefeq

3. % i

4. < TOHRAIRA

Question Number : 5 Question Id : 630680700173 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following occurs when small defects in the muscle of the wall of the large intestine or colon allow small pockets or pouches to
form?

Options :
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< Hepatitis C

</ Diverticulosis

b

1.
2.
3. ¥ Peptic ulcer discase
4.

Gastroesophageal reflux disease

Question Number : 5 Question Id : 630680700173 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i & & o1 9o g1 § old 91 3iid U1 §8eid @i dlaR @ HigafkEl § 8ie v sie tide a1 Ad &1 1 igafd 4d &
Options :

1. % gUeRied ¢

2. fagfear

3. % Ufpe SR Bl SHRT

4

Anatomy
Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Is Section Default? : null

Question Number : 6 Question Id : 630680703371 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following body system is primarily responsible for maintaining homeostasis?
Options :

1. ¥ Digestive System and Integumentary System.

2. ¥ Digestive System and Respiratory System

3. ¥ Integumentary System and Endocrine System
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4/1/24, 3:56 PM g06.tcsion.com/CAE/viewHtmIPDFAction.action

4. < Endocrine System and Nervous System

Question Number : 6 Question Id : 630680703371 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

fafeRed 7 & S 91 IR & THRITTH 61 5918 3@ & o 91 ©9 4 omier 82
Options :

1. % 3ieAraRolt & IR UrEA @

2. % UrEF ¢ SR 499 @

3. % SreraRufl 97 SR sid-ard o

4. < IA:HME 7 AR qledT ad

Question Number : 7 Question Id : 630680700095 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
How much time does a heartbeat last?
Options :

1. ¥ About 2 seconds

2. <7 About 0.8 second

3. ¥ About 0.5 second

4. ¥ About 1.5 seconds

Question Number : 7 Question Id : 630680700095 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
B D1 YSH [Pa 1T b Il 82
Options :

1. 8 TIYT 2 ebs

2. VAU 0.8 s

3. 8 WIYT0.5 9538

4. % YT 1.5 A
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Question Number : 8 Question Id : 630680700175 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which equation is correct for stroke volume (SV)?

Options :

1. ¥ SV= Heart Rate (HR)+ End systolic volume (ESV)

¥ SV= End Diastolic Volume (EDV)+ ESV

./ SV=EDV- ESV

% SV=HR-ESV

PRI

Question Number : 8 Question Id : 630680700175 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

WP dlegH (SV) F o 1 a1 wiie=or 9l 32
Options :

1. % SV =geg T (HR)+ 37d Uga 3Taa (ESV)
% SV = 3fd Ut I (EDV)+ ESV

.7 SV=EDV- ESV

4. % SV=HR-ESV

w N

Question Number : 9 Question Id : 630680700177 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
type of nephrons have short loops of Henle that do not dip far beyond the cortex.
Options :
1. 7 Cortical nephrons
2. % Papillary nephrons
3. ¥ Medullary nephrons
4

. ¥ Juxtamedullary nephrons
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Question Number : 9 Question Id : 630680700177 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

__ UPR S IR H A b SIS qU 81 & ol IR (PIcad) F 3 o P 781 gad 6|
Options :

1. 7 U g&pTY]

2. % Oftert gaeTy

3. % 3fRYT B

4. % 3c: ITIA B[

Question Number : 10 Question Id : 630680700178 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What does the ciliary body in the eye do?

Options :

1. < Filter out harmful UV radiation

2. ¥ Replaces damaged retina cells.

3. +7 Change the shape of the lens to focus light

4. ¥ Detect light and convert it into electrical signals

Question Number : 10 Question Id : 630680700178 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

sifa T fufererdt st oam weell 32

Options :

1. & g®RS UV fafeRo &) e Fxdl g1

2. % effowra Yo Bifkimrell B ufowfid Hrar g

3.  UhTRI ] I HRA & [l a BT 3HR Feer

4. % YHTRI BT U AT 3R I fagga ol & uRafda s
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Demography and common health statistics

Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Is Section Default? : null

Question Number : 11 Question Id : 630680700179 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which stage of the Demographic Transition Model (DTM) is characterized by low birth rates and low death rates, resulting in a stabilized
population?

Options :

1. ¥ Stage 1

2. 9 Stage 2

3. < Stage 3

4. < Stage 4

Question Number : 11 Question Id : 630680700179 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

%ﬁ%@qﬁnﬂmm’sﬂ@ﬁ@%ﬁmwﬁwwaﬁ?mwaﬁﬁﬁw@?ﬁ,wwmﬁﬂﬁ
Y

Options :

I % W71

2. % T2

3. % T3

4. W4

Question Number : 12 Question Id : 630680700260 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Which of the following countries have a one-child policy?
Options :
1. ¥ Japan
2. % India
3. China
4, ¥ USA

Question Number : 12 Question Id : 630680700260 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Pirfifed 14 e 2g § e A AR 3
Options :

1. < S

2. ¥ YRd
3.
4. % USA

Question Number : 13 Question Id : 630680703377 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What does 'Demographic Transition Theory' concerns with?
Options :

1. </ Explains the changes in birth and death rates

2. ¥ Study migration patterns

3. ¥ Analyse the impact of urbanization

4

. 8 Predict futurc population growth

Question Number : 13 Question Id : 630680703377 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0
Options :
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Question Number : 14 Question Id : 630680700103 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following types of statistical data classification method classifies data based on descriptive characteristics of the data?
Options :

1. ¥ Chronological classification

2. ¥ Geographical classification

3. ¢ Qualitative classification

4. ¥ Quantitative classification

Question Number : 14 Question Id : 630680700103 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fofafea o & fod TeR ot vt Set arffawor Ay Ser ot ol fadudrst & enuR w $e1 &1 avffed st 82
Options :

1. % BTAMHIHG iR

2. & e iieRur

3. & TUTED qTHR0]

4. % WD FlBRul

Question Number : 15 Question Id : 630680700183 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a health research, which of the following type of statistics is concerned with making predictions, inferences or generalizations about a
population based on sample data?

Options :
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. <# Inferential statistics
. 9 Vital statistics

& Descriptive statistics

BN -

b

Epidemiological statistics

Question Number : 15 Question Id : 630680700183 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

mg@mﬁ,ﬁaﬁ@aﬁ@fﬁmw% SHidre AT STT & YR W TS & IR & Hawariom, sum a1 aramie<o a3
Options :

1.7 TIHIND Sfidg

. & TR fogH-geeh sifes

AW

Community Health, Epidemiology and Disease Prevention

Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Is Section Default? : null

Question Number : 16 Question Id : 630680700264 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who is the current minister of Health and Family Welfare of India?
Options :

1. ¢ Shri Mansukh L. Mandaviya

2. % Dr. Bharati Pravin Pawar

hitps://g06.tcsion.com/CAE/viewHtmIPDFAction.action 12175
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3. ¥ Shri Rajesh Bhushan
4. < Shri Parsadi Lal Meena

o

Question Number : 16 Question Id : 630680700264 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

YR & A W Ud URaR Hedmo) Hf &F g2
Options :

1. 7 4l A1 e, Herfaan

2. % L. YR gdI0 GaR

3. % ot oy ymor

4. % gt oRETE! arel HiH

Question Number : 17 Question Id : 630680700186 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Disease surveillance involves .

Options :

1. 7 Systematic collection and analysis of data

. ¥ Educating individuals about healthy lifestyle choices

b

2
3. ¥ Developing new vaccines and treatments for emerging diseases
4

Conducting clinical trials to access the efficacy of medications

Question Number : 17 Question Id : 630680700186 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ATARAT gl

Options :

1. ¥ 321 P A T8 IR fI=aiwor
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3. % Ul ST & g U A% oIk IUaR fasfid S
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Question Number : 18 Question Id : 630680700265 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

According to the Economic Survey 2022, what was the government expenditure on healthcare in 2021-22?
Options :

1. ¥ 1.8% of GDP

2.7 2.1% of GDP

3. % 8% of GDP

4. % 20% of GDP

¢

Question Number : 18 Question Id : 630680700265 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1o d&oT 2022 F SFER, 2021-22 T TR FaT TR BN T e a1e
Options :

1. ¥ GDP I 1.8%

2.7 GDP®12.1%

3. ¥ GDP &I 8%

4. % GDP PI120%

Question Number : 19 Question Id : 630680703384 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The epidemiological triad or epidemiological triangle is a traditional model to explain how infectious diseases are caused and transmitted. All of
the folloing are parts of the epidemiological triangle, except

Options :

1. ¥ External Agent
2. ¥ Susceptible host
3.« Remedy

4. ¥ Environment

hitps://g06.tcsion.com/CAE/viewHtmIPDFAction.action 14175
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Question Number : 19 Question Id : 630680703384 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

R fawT 7 a1 HETHRY o Brepior 78 wHgi & forg Ues URURes Hisa ¢ b Webres I 58 Iaet SR uiiva gl 8
B Blgdx, A ¥+ AemRl faw Heto & Y g

Options :

1. % 9 geie

2. & HfridgTRid AoaH
3. AR

4. ¥ qgiaRur

Question Number : 20 Question Id : 630680700108 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘Which of the following is a type of primary prevention of an illness?
Options :

1.+ Moderation of Alcohol

2. ¥ Mammography

3. ¥ Pap smear

4. ¥ Blood glucose screening

Question Number : 20 Question Id : 630680700108 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i § 3 o a1 fordt SR 3 wrfie As U BT TH TPR 87

Options :

1.  UH & SR IR

2. % BrmTwt

3. % Qo uir

4. % o] YHR B Sid
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Maternal Health Pregnancy and Childbirth

Section type : Online

Section Negative Marks : 0

Enable Mark as Answered Mark for Review and Clear Response : Yes

Maximum Instruction Time : 0

Is Section Default? : null

Question Number : 21 Question Id : 630680700270 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is true about 'true labour contractions'?
Options :

1. ¥ Do not increase in duration, frequency or intensity

2. ¥ Do not achieve cervical dilatation

3. ¥ Begin and remain irregular
4

. <7 Felt first in lower back and sweep around to the abdomen in a wave

Question Number : 21 Question Id : 630680700270 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frofafed & 9 o a1 arRafds yealeT e & aR # 9 82

Options :

1. & 3fafd, gy ar digar § 9ig T &

2. % YR UHaT & Bl UTd | B

3. % T BT e 3R Sl ear g

4. v g8 vgd We & e B & Hegy gor oiR T aex § Ue & aRy iR g

Question Number : 22 Question Id : 630680703387 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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What term describes the intermittent painful uterine contractions which are often referred to as 'false labor' during pregnancy?
Options :

1. ¥ Menstruation

2. ¢/ Braxton hicks contraction

3. ¥ Menopause
4

. 8 Ovulation

Question Number : 22 Question Id : 630680703387 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0
P A1 THIARIT & SRM RIS FeTardd TR Ugad I quH Hdl § o SRR YT TauieT Hgl Sirdl 82
Options :

1. % ARY®H
2.
3. % SAgh
4,

Question Number : 23 Question Id : 630680700113 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a Prolactin-inhibiting hormone?
Options :

1. ¢ Dopamine

2. ¥ Adrenaline

3. ¥ Noradrenaline

4. % CRH

Question Number : 23 Question Id : 630680700113 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frafeiaa 7 B a1 ddfde-saRiy® g 82
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Options :

1.« SUMERA

<>
«

2. % UGS
3. % ARUGRIE
4.% CRH

©

©

Question Number : 24 Question Id : 630680700192 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What does the decreased diastolic flow in umbilical artery Doppler velocimetry indicate?
Options :

1. ¥ Normal placental function

N

. 9 Improved fatal status

w

. %7 Increased placental vascular resistance

4. ¥ Decreased placental vascular resistance

Question Number : 24 Question Id : 630680700192 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Y e SR A B Uehdl uaTe B S o Rl 82
Options :

1. % W SR B

2. % gert g8 uras Rufq

3. 7 IORT g URIg H gl

4. % S{URT HagHl TRy & HHi

Question Number : 25 Question Id : 630680700193 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0
What is the primary misconception among mothers regarding feeding liquids other than milk to infants?
Options :
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1. %7 It helps lessen problems like colic and infant gas

o

It boosts infants' immunity against infections

©

2.
3. = It promotes better sleep pattern in infants
4.

2 It aids in weight loss for the mother

Question Number : 25 Question Id : 630680700193 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e Y gy I srermar 3 aRa Yerd 3 & Taiy § Aransit & s vrafie Ted yRon w9 g?
Options :

1. ¥ T IR 3R R &t 77 SRt st 1 71 a3 § e dRar g

2. % g w0 & e el Bt uieRiye & B 9 8

3. % TR RYAF FgR e & e o ggaraars

4. % UG HIdT P U o e F Tgrdl Hidl §

Question Number : 26 Question Id : 630680703388 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following maternal condition can potentially lead to slowed foetal growth during pregnancy?
Options :

1. ¥ Regular prenatal vitamins intake

N

. ¥ Controlled blood pressure
. 7 High blood pressure
4. % Adequate hydration

w

Question Number : 26 Question Id : 630680703388 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Fofafea o & o I o Rufa mufewn % SRA Hwfad 0 3 yor & foer 31 i = g 82

Options :

1. % fyafta vaayd faerfm &1 daw
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2. % TR =
3. 3 &AM
4. % TS Serdior

Question Number : 27 Question Id : 630680703389 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

is a hormone produced by the kidneys to stimulate the production of red blood cells. It ensures normal oxygen levels in the mother and
fetus.

Options :

1. ¥ Cortisol

2. ¥ Thyroxine

3. ¥ Insulin

4. <7 Erythropoietin

Question Number : 27 Question Id : 630680703389 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

g{]ﬁwﬁﬁm&ﬁﬁwﬁmm?ﬁﬁmﬁmmwsﬁ?%l g TF 3R YT T A= SfeRiier R gfdd
HRAg|
Options :

1. # B

2.
3. = ggfem
4. TSR

Question Number : 28 Question Id : 630680700118 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

Immunization against tetanus, immediately after the confirmation of pregnancy is a type of care.
Options :

1. <7 Ante natal care

hitps://g06.tcsion.com/CAE/viewHtmIPDFAction.action 2075
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2. % Intra natal care
3. ¥ Natal care

4. 3 Post natal care

Question Number : 28 Question Id : 630680700118 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TUTRI B gfY & X dTg, e & faeg HTdHu, Uh UHR B T@HE B
Options :

1. 7 JHaYd /U

2. % SRR ST

3. % Ud PIeiH @HTA

4. % THARR SGHTA

Question Number : 29 Question Id : 630680700276 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which vaccine is primarily given to children to prevent tuberculosis?
Options :

1. ¥ MMR

2. % DPT

3. v BCG

4. % HepB

Question Number : 29 Question Id : 630680700276 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SR & §91d & oI o=l ) 4T 0 ¥ S 14 1 ot o oira 82
Options :

1. ¥ MMR

2. ¥ DPT

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 21/75
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3.+’ BCG
4. ¥ HepB

Question Number : 30 Question Id : 630680703393 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Infants undergoing cardiac surgery require meticulous preoperative assessment of their hemodynamic and thus dehydration must be avoided in
patients. Hemodynamic means d

Options :

1. ¢ dynamics of blood flow

2. ¥ dynamics of nervous system
3. ¥ dynamics of breathing
4

. ¥ dynamics of muscle movements

Question Number : 30 Question Id : 630680703393 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BISaD Foikl I TR mmmﬁmmmmm$wwmmma id B SHTaRIH BIel § SR 58 UBR AR H
fsfefepor & s/ ST ARy | SHISTITE &1 oref §

Options :

1.« Tad YATE @1 it

2. % A1 o BT TIfaRierar

3. % 1Y I TfRiad

4. % AIURMAY @ ik Bt TioRiear

Child health and Nutrition

Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Is Section Default? : null
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Question Number : 31 Question Id : 630680700199 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which year was Universal Immunization Programme (UIP) launched in India?
Options :

1. ¥ 1977

21978

.7 1985

<1950

PRI

Question Number : 31 Question Id : 630680700199 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

HRA H G ST SRIHH (G3sl) fore 3y == fvar mam me
Options :

1. 81977

2.9 1978
3. 1985
4. % 1950

Question Number : 32 Question Id : 630680700202 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the potential consequence of delayed introduction of complementary foods?
Options :

1. ¥ Enhanced cognitive development

2. <7 Iron deficiency anaemia

3. 9 Increased acceptance of new foods

4

. ¥ Reduced risk of food allergies

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 23/75
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Question Number : 32 Question Id : 630680700202 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

RS TN UGt Bl & & Y XA 1 GUTfad TR F:1 82
Options :

1. ¥ A IIHHSD fdvrg

2. SRRA DI HH! H SRFAdT

3. % T ORI veTdl ) 9¢1 g8 Widhridl

4. % T TS BT HH a1

Question Number : 33 Question Id : 630680700282 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

WHO and UNICEF recommend that children initiate breastfeeding within the of birth.
Options :

1. ¥ First 10 minutes

2. </ First hour

3. ¥ Six hours

4. 9 24 hours

Question Number : 33 Question Id : 630680700282 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

WHO IR UNICEF Bl Aag g e sa@mioa®d & iR uA e e Sl
Options :

1. % gyd 10 foFe

2./ Uga el

3.8 @

4. % I Ee
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Question Number : 34 Question Id : 630680703399 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the recommented period for exclusive breast feeding by WHO ?
Options :

1. ¥ 3 months

2. <7 6 months

3. 8 I year
4

. ¥ 8 months

Question Number : 34 Question Id : 630680703399 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

WHO §RT had W & [oe SIRIRTT sraft a1 g2
Options :

1. % 30gH

2. 6 HEH

3.9

1 af

4. % gHEH

Question Number : 35 Question Id : 630680700123 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the WHO-recommended timeline for exclusive breastfeeding?
Options :

1. ¥ 3 months

2. <7 6 months
3. % 9 months
4

®

12 months

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 25/75
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Question Number : 35 Question Id : 630680700123 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

{381y T & fow wHO gRT SrRiRE TRt Jar 82
Options :

1. % 3HgH

2. 6 HEH

3. % 9WEH

4.8 1278

Immunization
Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Is Section Default? : null

Question Number : 36 Question Id : 630680700125 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The part of the immune system that cleans up damaged cells is called
Options :

1. ¥ Excretory system

2. 9 Digestive system

3. ¢ Complement system

4

. 9 Cell based immune system

Question Number : 36 Question Id : 630680700125 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
TRRET & BT I8 U S &ifeRd HIRISTSHT B TG el 8, EREIE]
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Options :
1. % IO dF
2. % qEA
3. 7 qR& YUIal
4. % DIPTSR TR o=t

Question Number : 37 Question Id : 630680703402 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which vaccine is commonly recommended for older adults to prevent shingles?
Options :

1. ¥ Influenza

2. 7 Shingrix vaccine

3. 8 Varicella
4

. ¥ Pneumococcal

Question Number : 37 Question Id : 630680703402 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

I T! B &l I §919 B [T AR W DI A1 ST A B T &l il 82
Options :

L. % SuRqEel

2.  Riffeq der

3.8 e

4. % GAMPIHA

Question Number : 38 Question Id : 630680700206 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is not an example of inactivated vaccine?
Options :

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 27175
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. ¥ Rabies vaccine
./ Varicella vaccine

& Hepatitis A virus vaccine

BN —

b

Whole cell pertussis vaccine

Question Number : 38 Question Id : 630680700206 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e # & o w1 ffSrg 8% &1 I 18l 32
Options :

1.  X&ftel 1 et

2. T e

3. % BUeTsiey A 9y e

4. % HqO BRI R AT

Question Number : 39 Question Id : 630680703404 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

At what age is the DTaP vaccine typically administered to children?
Options :

1. ¥ 6 weeks, 10 weeks, 14 weeks

2. ¥ 2 years, 3 years, 4 years

3. ¢ 2 months, 4 months, 6 months

4. ¥ 12 months, 18 months, 24 months

Question Number : 39 Question Id : 630680703404 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

DTaP ST STHIR R §=d! &1 {5 g 7 fozr smar g2
Options :

1. ¥ 6 UUlg, 10 9«Tg, 14 9«Ilg
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2.9 279,399,479
3. 2TEH, 4 g, 6 Ae A
4. % 12U8H, 18 He A, 24 T8I

Question Number : 40 Question Id : 630680700208 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In type I hypersensitivity reactions, which mechanism leads to tissue damage?
Options :

1. ¢ Antibody- mediated cell destruction

2. ¥ Complement activation

3. ¥ Opsonization and phagocytosis

4

. % Deposition of immune complexes

Question Number : 40 Question Id : 630680700208 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

PR 11 HferiaeT=iiaar ufafsarsll &, B a1 a7 Saw &fd iR & ST g2
Options :

1. 2 CTaTS - HeERYdT HIfRIeT IR

2. 8 RS Alhau

3. % TR 3R Yerdm Tl

4. % UfoRan GHd 1 oH1d

Adolescent health

Section type : Online

Section Negative Marks : 0

Enable Mark as Answered Mark for Review and Clear Response : Yes

Maximum Instruction Time : 0

Is Section Default? : null
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Question Number : 41 Question Id : 630680700129 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How is a functional disorder treated in adolescents?

Options :

1. ¥ Punishment

2. % Antibiotics

3. ¥ Avoiding the issue

4

. 7 Occupational therapy

Question Number : 41 Question Id : 630680700129 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

iRt & wrfars AeR &1 3ar B4 far o 82
Options :

1. 8 el

2. & Terifes

3. % Hg DI el

4. </ ISP T

Question Number : 42 Question Id : 630680703406 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which approach is commonly used in managing anxiety disorders in adolescents?
Options :
1. ¥ Psychodynamic therapy
. ¥ Electroconclusive therapy

2
3. ¥ Hypnotherapy
4. 7 Cognitive behavioural therapy

hitps://g06.tcsion.com/CAE/viewHtmIPDFAction.action 30/75
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Question Number : 42 Question Id : 630680703406 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fer=iRY  fefc fepr & wraier SR WR ot efamtor a1 JuaiT faram siren &2
Options :

1. % A feifeen

2.
3. % feuidRd!
e

Question Number : 43 Question Id : 630680700132 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the daily calorie requirement for an adolescent female?
Options :

1. ¥ 1500-2000 calories /day

2. 7 Approx 2200 calories /day

3. % 2500-3000 calories /day

4. % 4500-5000 calories /day

Question Number : 43 Question Id : 630680700132 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T iR Afgen & forg e Hart o5t srazadwmar w2
Options :

. © 1500-2000 FARfET

7 THT 2200 HARY R

. ¥ 2500-3000 PRV

. ¥ 4500-5000 HeRYET

PV ]
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Question Number : 44 Question Id : 630680700212 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which is a common cause of injury among adolescents?
Options :

1. ¥ Adequate sleep patterns

2. % Insufficient screen time

3. ¥ Regular physical pattern

4. <7 Unsafe driving practices

Question Number : 44 Question Id : 630680700212 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TR Tiic T &1 U% AT SR T 32
Options :

1. % Ui g & ded

2. 8 AT B THI

3. @ Faft IR Oed

4. SRIEr gr3feT wrd

Question Number : 45 Question Id : 630680703410 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which therapeutic approach in adolescent counselling focuses on exploring unconscious conflicts and unresolved issues from early life
experiences?

Options :

1. ¥ Gestalt therapy

2. ¥ Cognitive behavioural therapy
3.

4. <7 Psychodynamic therapy

b4

Dialectical behaviour therapy

hitps://g06.tcsion.com/CAE/viewHtmIPDFAction.action 3275
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1. ¥ External condom
2. <7 Femidom
3. ¥ Diaphragm
4.

2 Tubal ligation

Question Number : 48 Question Id : 630680700295 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
T Giefl TR-aIea et ¢ Forees Te RiR IR U ol 9T 8eh & S p1u] b1 TR # S 9 Aep o forg A1 & fRya 38l 311
Options :
1. # S $Hem
2. BSH
3. 9 SHMPH
4. 8 fEqanfg deq

Question Number : 49 Question Id : 630680700297 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The prevents pregnancy by stopping the ovaries from releasing an egg each month.
Options :

1. ¥ Tubal ligation

. .
<% Femidom

w N

. % Diaphragm
4. <7 Vaginal rings

Question Number : 49 Question Id : 630680700297 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

ST B TR A T 37T SR} B I AR THITRIT BT Al B
Options :

1. % fSqariel de

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 35/75

4/1/24, 3:56 PM g06.tcsion.com/CAE/viewHtmIPDFAction.action
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< SR
AR

w

Question Number : 50 Question Id : 630680700138 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Where do the sperm go after vasectomy?
Options :

1. ¥ They come out during cjaculation

2. =% They arc collected in the Vas Deferens
3. &7 They get reabsorbed into the body

4. 8 They travel to the epididymis

Question Number : 50 Question Id : 630680700138 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Y ] & d1E Yeh1y] ol oildl 62
Options :

1. % 3 Vg0 & GRH 18R 31d §

2. % 3% Yo el 8§ U forar sirar §
3.V A TRRA G a2 S oA 8
4. % VSIS 0% a=T X4 §

Common Communicable diseases

Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Is Section Default? : null
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Question Number : 51 Question Id : 630680700139 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following parasites causes malaria?
Options :

1. ¥ Nematodes

. ¥ Acanthamoeba

. ¢ Plasmodium

4. ¥ Flavivirus

w N

Question Number : 51 Question Id : 630680700139 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Frofafea # & 37 91 wRofid 7afka 1 RO & 82
Options :

1. % 9HIETS

2. % hyspfiar

3.  WISHITSTH

4. % GAfdaraRY

Question Number : 52 Question Id : 630680700300 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following diseases is also known as break-bone fever?
Options :

1. ¥ Dengue

. 8 Yellow fever

. % Q-fever

4. % Typhoid

W N
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Question Number : 52 Question Id : 630680700300 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fofaiaa T & fora St o1 3Ry ysH §ER & 19§ ot ST T 82
Options :

1.3

2. % Uil g@R

3. % QEER

4. © TIPS

Question Number : 53 Question Id : 630680700141 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the causative organism of Q-fever?
Options :

1. ¥ Varicella

2. «/ Coxiella burnetii

3. ¥ Lyssavirus

4. ¥ Rotavirus

Question Number : 53 Question Id : 630680700141 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Q-STR T IR oiid B I 82
Options :

1. 8 aRe

2. Bligaudr g-ie!

3. % forraraRy

4. ¥ ERRY
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Question Number : 54 Question Id : 630680700142 Is Question Mandatory : No Calculator : None Response Time
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a parasitic disease that affects lymph nodes and lymph vessels?

Options :

1. ¥ Malaria

2. ¥ Typhoid

3. 7 Filariasis
4

. ¥ Tuberculosis

Question Number : 54 Question Id : 630680700142 Is Question Mandatory : No Calculator : None Response Time
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
FafRad O @ o 91 T welld! A7 § S aiidrad iR afieT aifgdrell o uHifad s g2
Options :

.8

2
3.
4

Question Number : 55 Question Id : 630680700143 Is Question Mandatory : No Calculator : None Response Time
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following diseases is not a food-borne disease?

Options :

1. ¥ Shigellosis

<y
«

2
3. ¥ Giardiasis
4. </ Malaria

Listeriosis

<>
«

Question Number : 55 Question Id : 630680700143 Is Question Mandatory : No Calculator : None Response Time
Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

fofaiad & & oI 91 I | Sd IR 82

Options :

Rt

2. @ fafeRsife

3. % fomnfaan

4. 7 AR

<>

1. <~

Question Number : 56 Question Id : 630680700301 Is Question Mandatory : No Calculator : None Response Time
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following animals is not responsible for the transmission of rabies?

Options :

1. ¥ Dog
2 Cat
3.

4

Question Number : 56 Question Id : 630680700301 Is Question Mandatory : No Calculator : None Response Time
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e o & &I 91 THR Wi & SR & o rieR 761 82
Options :

1. 8 ol

2. % foedt

3. ¥ IHIGS

4. 9iq

Question Number : 57 Question Id : 630680700302 Is Question Mandatory : No Calculator : None Response Time
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

hitps://g06.tcsion.com/CAE/viewHtmIPDFAction.action

: N.A Think Time : N.A

: N.A Think Time : N.A

: N.A Think Time : N.A

: N.A Think Time : N.A

39/75

: N.A Think Time : N.A

: N.A Think Time : N.A

: N.A Think Time : N.A

40/75

Page 20



4/1/24, 3:56 PM g06.tcsion.com/CAE/viewHtmIPDFAction.action
Shiga toxin is produced by .
Options :
1. ¥ Salmonella typhi
2.9 Streptococcus pyogenes
3. 7 Escherichia coli
4

. ¥ Staphylococcus aureus

Question Number : 57 Question Id : 630680700302 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0
Rrrfay . gRIS@fedgangl
Options :

1. ¥ HICHIAI CIEWHhT

2. % KPS ARAY

3. 7 SERIfar Hiars

4. ¥ WIbldio®d ARIeg

Question Number : 58 Question Id : 630680700227 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which STD can present with the characteristic symptom of a ‘chancre' at the site of infection?
Options :

1. ¥ Gonorrhea

2. <7 Syphilis

3. 8 Chlamydia

4. ¥ HIV/AIDS

§

Question Number : 58 Question Id : 630680700227 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
DI T STD ThHUT & VI TR Fop $ ARIY &1 & W1y IR g1 Iehel 82
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Options :
1. ® gold
7 .
“ Gl

. ¥ HIV/AIDS

BowWoN
b

Question Number : 59 Question Id : 630680700228 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

According to the CDC, can inactivate HIV.
Options :

1. % Acetone

. ¥ Distilled Water

. 7 ethyl alcohol

4. 3 Acetic acid

wN

Question Number : 59 Question Id : 630680700228 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A F oquR,  Tgemsd & Riksg R I g
Options :

1. % TldH

2. < 3{IYd Il

3./ T PRI

4. % THIRCSH o

Question Number : 60 Question Id : 630680700308 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0
In which of the following stages of HIV infection, do people have a large amount of HIV in their blood and are very contagious?
Options :
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1.+ Acute HIV infection

2. ¥ Chronic HIV infection

3. ¥ Acquired immunodeficiency syndrome
4. ¥ Stage 4 HIV infection

Question Number : 60 Question Id : 630680700308 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

HIV Tera0 & Fafeiad & § farg a=or 5 a1 & tod & 98t A F HIv 81dT1 8 3iR 3 9gd I 81d 82
Options :

1. & g HIV A0

2. % Siiof HIv AT

3. % UBIUS SIS RGH RigH

4

. ¥ T4 HIV GhH

Non-Communicable Diseases

Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Is Section Default? : null

Question Number : 61 Question Id : 630680700230 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which non- communicable disease is commonly associated with anemia?
Options :

1. &7 Chronic kidney disease

2. % Type 2 diabetes

3. ¥ Hypertension
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4. ¥ Rheumatoid arthritis

Question Number : 61 Question Id : 630680700230 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

DI I TR-TIRT T AR TR Iadleqdryl 8T 82
Options :

1.« EHpIiere gad I

2. % GYHg UHR 2

3. ¥ I XK

4. % FHTIZS oAl

Question Number : 62 Question Id : 630680700311 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is inflammation that can cause temporary or permanent vision loss.
Options :
1. ¥ Glaucoma
2. 7 Optic neuritis
3. ¥ Cataract

4. ¥ Macular Degeneration

Question Number : 62 Question Id : 630680700311 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
 go g o oreurft A i 2 g1 T SR §F Tl g

Options :

1. 8 DMl
2.

3. % mifqadg
4,
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Question Number : 63 Question Id : 630680703427 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a symptom of Anemia?
Options :

1. 7 Elevated blood pressure

2 Pale skin

g

>

% Weakness
4. 3 Brittle nails

w

Question Number : 63 Question Id : 630680703427 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Froffa # & BIF 1 Xadredan &1 & T 2
Options :

1. ¢ §g1 g3{T Xaag

2.8
3. ¥ HHSR
s i

Question Number : 64 Question Id : 630680700154 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

is a chronic noncommunicable disease of the brain that affects people of all ages.
Options :
1. <7 Epilepsy

N

. ¥ Down syndrome
. % Clubfoot

4. 2 Fetal alcohol syndrome

w
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Question Number : 64 Question Id : 630680700154 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
TR BT U QRI0T R-GARY A7 § S 9t 311 3 it bt g HRelt § |
Options :
1. firaft
2. % g3 Rigm
3. % Ugfaspid
4. ¢ Mg T RigH

Question Number : 65 Question Id : 630680700232 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following genetic alteration is commonly found in melanomas and is associated with increased cell proliferation and survival?
Options :

1. ¥ IDH1

2. % PTEN

3. < NRAS

4. 8 RET

Question Number : 65 Question Id : 630680700232 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fofafad & 4 o1 a1 orgdfie uRad SdR R AcH1T & UrT SiTdT 3 SR P11 TR 3R Sifii@ ¥ 3 & 91 91§81 62
Options :

1. ¥ IDH1

2. ¥ PTEN

3.« NRAS

4. % RET

Question Number : 66 Question Id : 630680700313 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
Which of the following is a cause of obstructive coronary artery disease?
Options :
1. ¥ Myocardial bridging

N

. ¥ Coronary Vasospasm
.+ Plaque buildup

. ¥ Endothelial dysfunction

AW

Question Number : 66 Question Id : 630680700313 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafeoiaa 5 9 o ufeRieh ulee g5= 9T &1 HRUI§?
Options :

1. % ggu=i fafohT

2. % UREg aNRUE

3. / Wil I AT

4. % 3fd:Hdl sUichar

Question Number : 67 Question Id : 630680703431 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following type of stroke is commonly associated with a sudden blockage of blood flow to the brain?
Options :

1. ¢ Ischemic stroke

2. ¥ Embolic stroke

3. ¥ Haemorrhagic stroke

4

. & Transient ischemic attack

Question Number : 67 Question Id : 630680703431 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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o & J 59 UeR 1 ERT MIR R AR § 6 $ Ta8 § S/AME $Hac 3 91 8idT 32

Options :

1. 7 ST 3T

2. ¥ IR AT
3. ¥ IqqHTd! SHTaTd

4. % &fforp W iTD IRT

Question Number : 68 Question Id : 630680700156 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

Which of the following is a non-modifiable risk factor for hypertension?
Options :

1. «Z Co-morbidity-Diabetes

2. ¥ Obesity

3. ¥ Consumption of tobacco

4

. ¥ Physical inactivity

Question Number : 68 Question Id : 630680700156 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fofafed ¥ 4 o1 91 3w Y & e ie IR-uRad=a sifen R 82
Options :

1.  HG-BUI-HYHG

2. % Hiemr

3. 8 TS BT YdA

4. % RIS Ffesaar

Question Number : 69 Question Id : 630680700317 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0
deficiency is the most common cause of thyroid disease, specifically hypothyroidism.
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Options :
1. ¢ lodine
2. ¥ Calcium
3. ¥ Iron
4. ¥ Sodium

Question Number : 69 Question Id : 630680700317 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Pl URRIZS A, a9 U q SRUURESSH BT e 31 HRU S|
Options :
1. ¢ 3IBH
2. % PHicagq
3.8 IR
4. % QSTA

Question Number : 70 Question Id : 630680703433 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which factor is considered a non- modifiable risk factor for essential hypertension?
Options :
1. 7 Family history of hypertension
. ¥ Obesity

<>

2
3. ¥ High sodium intake
4

b

Sedentary lifestyle

Question Number : 70 Question Id : 630680703433 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SAS I I F AU B I HReb TR-URTA1G SIRGH HRS AT SITdT 82
Options :
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. 3 TG & TR sfagr

BOW NN =

National Health Programs

Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Is Section Default? : null

Question Number : 71 Question Id : 630680700160 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘When was the National Malaria Control Programme (NMCP) launched by the Govt. of India?
Options :

1. ¥ 1946

2. 1953

3.9 1977

4. %1982

Question Number : 71 Question Id : 630680700160 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

HRA IRHR GRT AP FAIRAT FH01 SRIHH (NMCP) S I foball 717 12
Options :

1. ¥ 1946

2.7 1953

3.91977

hitps://g06.tcsion.com/CAE/viewHtmIPDFAction.action 5075

Page 25



4/1/24, 3:56 PM g06.tcsion.com/CAE/viewHtmIPDFAction.action
4. % 1982

Question Number : 72 Question Id : 630680703437 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the role of Health and Family Welfare Programmes in promoting reproductive health?
Options :

1. ¥ Providing limited access to family planning services

2. <7 Offering comprehensive reproductive health services and education

3. ¥ Ignoring prenatal care for pregnant women
4

. ¥ Promoting early marriage and teenage pregnancies

Question Number : 72 Question Id : 630680703437 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

VST TR &1 ST o H TR U URAR el HIIHH! & a1 Y{HDT 82
Options :

1. % gRaR FaeF Jarstt d@ S uga UeH S

2. <7 YD Tl WA a1y SR e 7a S

3. % qdt afgarsii & e THayd S@yTE & Jue Bl

4. % HY I fqare 3R fHxiR miuRvr & ggm@r &

Question Number : 73 Question Id : 630680700161 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘When were the strategies of the National Cancer Control Program revised by the Govt. of India, stressing primary prevention and early detection
of cancer?

Options :
1. 81975
2.7 1984-85
3. %1998
4. % 2004-05
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Question Number : 73 Question Id : 630680700161 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

HRT WBR GRIAPT AR (0 HshH D1 ORI b1 el HNTA foban 7T, S 8= 1 wrfires Aehur iR e Uell TR W SR
GG

Options :

1. ¥ 1975

.7 1984-85

~ 1998
£ 2004-05

¢

B

Question Number : 74 Question Id : 630680700163 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is not the correct dosage age for the Oral Polio Vaccine (OPV), as per the National Immunization Schedule?
Options :

1. ¥ At Birth

2. % 6 weeks

3. % 14 weeks

4.7 36 weeks

Question Number : 74 Question Id : 630680700163 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

T TR ST 5 SR, PRI & B < sl ik 3t (0pv) 3 Ry @i @ org e 22
Options :

1. 8 SFHW

2. 8 6 9dlg

3. 9 149wg

4, <7 36 T

¢
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Question Number : 75 Question Id : 630680700321 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who launched the National Cancer Registry Programme?
Options :

1. ¥ ICMR

2. ¥ MoHFW
3. ¥ WHO

4. ¥ NIMES

b

Question Number : 75 Question Id : 630680700321 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T R TR Rl e 3 e
Options :

1. 7 ICMR

. ¥ MoHFW

. ¥ WHO

. ¥ NIMES

AW

Question Number : 76 Question Id : 630680700324 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

When was the Pradhan Mantri Swasthya Suraksha Yojana approved?
Options :

1. % 1989

2. % 1997

3. % 2000

4. 72006

o

Question Number : 76 Question Id : 630680700324 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

T TR YRE Aot Bl o Tl &t 118 2

Options :

1. ¥ 1989

2. %1997

3. ¥ 2000

4.7 2006

Question Number : 77 Question Id : 630680703438 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Why is it important for National Health Programmes to address social determinants of health?
Options :

1. ¥ To discriminate against marginalized communities

2. % To create barriers to healthcare access

3. ¢ To promote health equity and reduce disparities

4

. ¥ To limit access to education and employment opportunities

Question Number : 77 Question Id : 630680703438 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TP TR HIHHI B 70 W & HrHTTSIeh FMeliRep! IR & Al ol Heeayul 82
Options :

1. % FIRIT TR G I 94T & REGArs Neauid Sl

2. ¥ Y RGHTA B Ugd & F1emd Te1 T

3. < TR AT BT 91T ST 3R SAHMH D) FH HIAT

4. % TR1&T AR AR F SHawR| TP Ugd I Wiid S|

Question Number : 78 Question Id : 630680703439 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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What is a primary focus area of Health and Family Welfare Programmes related to child health?
Options :

1. ¥ Encouraging malnutrition and undernourishment

2. 7 Providing access to paediatric healthcare services
3. ¥ Limiting access to immunization programs
4

. ¥ Ignoring maternal and newborn care

Question Number : 78 Question Id : 630680703439 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

1T WA ¥ Heifid Wred Td URaR SedTu] HRIsHH &1 UIHE Bihg &7 o1 32
Options :

1. % SO 3R SeqUIy &1 Hiciifed S

2. « 91 T Wred Ya1s)i deb Ugd UG oAl

3. % IR0 HRGH! ab Ugd THd ST

4, % 1] T4 IO S@HT B JU&T AT

Question Number : 79 Question Id : 630680700248 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT an objective of the National Rural Health Mission (NRHM)?
Options :
1. ¢/ Providing universal access to quality health care services at high costs
. % Providing access to integrated comprehensive primary health care system

2
3. 8 Reducing maternal morbidity and child mortality ratio
4

©

Preventing and controlling communicable and non- communicable diseases

Question Number : 79 Question Id : 630680700248 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fofafad & 4 o g ardor @ AR (NRHM) BT 35%4 81 07
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Options :
1.« 3% AT TR T[OIaIyU] W GaHTd darsil 0o Qe Ugd e Bl
2. % USIPa UG Ui W TEUTH YU} 6 Ugd UG B
3. % I 0Tl SR 916 GG SHUI B HH BT
4, % FORI wd IR G A7 9 AH U™ $A1 Ud FafHa s

Question Number : 80 Question Id : 630680700327 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

Which of the following stages of National health planning involves the analysis of the current status and expected trends in a country's health and
health system?

Options :

1. ¢ Situation assessment
2. ¥ Priority setting

B/

4. S Resource planning and budgeting

€

Identifying effective strategies

Question Number : 80 Question Id : 630680700327 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

gmmﬁw%ﬁqﬁ@aa@ﬁ@ﬁmwﬁ?waﬁw@?Wmﬁaﬁqﬁi@ﬁsﬁ?ﬁwmmﬁw
Options :
1. v fRfq s
2. % Ui AT
3. % gyd} UM B ugaH SRl
4. % Y Qo 3R SwifeT

General Knowledge
Section type : Online
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Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Is Section Default? : null

Question Number : 81 Question Id : 630680700351 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a dihybrid cross, how many different genotypes can be formed from the combination of two heterozygous individuals?
Options :

1.9 1

2.98
3.9
4.9 32

Question Number : 81 Question Id : 630680700351 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T ) Yawur &, 31 fasrrperlt safeal & Taior @ fran Sia-S1erT Si-ieTsy §91S S 9 82
Options :

.21

b

A

>

< 1

5

2.%8
3.9
4.9 3

¢

2

Question Number : 82 Question Id : 630680700355 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements about the State Executive in India is incorrect?
Options :

1. ¥ The Council of Ministers is collectively responsible to the State Legislature.

2. <7 The chief minister is clected by the members of parliament.
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3. ¥ The Governor is the nominal head of the State Exccutive.

4. ¥ The State Executive consists of the Governor, the Chief Minister, and the Council of Ministers.

Question Number : 82 Question Id : 630680700355 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Frofea & § B W FyF YR B T SRR F IR H Ted 82
Options :

1. % HRuRee Irfge U ¥ Aed RyHHsa & Ui SwRar g1

2. v I P14 UG Yawl gRI a1 oI g1

3. % I 3T HRIBINUR BT A HTUE 5|

4. % T HRIHIR & Ireaure, G ofR Aty ulvwe wnfia €

Question Number : 83 Question Id : 630680700342 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

According to classical economics, what is the key factor that determines the level of employment in an economy?
Options :

1. ¥ Labor Union Negotiations

2. <7 Wage rates

3. ¥ Government intervention

4. % Money supply

Question Number : 83 Question Id : 630680700342 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

RGN SR & SR, I8 TG HRS 7 8 Ol forlT Srferrat & AsiR & wR &1 FefiRd srarg?
Options :

1. % 4fAe Ju ST

2. A &

3. 8 NHR FHT gWay
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4. % o Tyl

Question Number : 84 Question Id : 630680700354 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In India the phenomenon of 'Break in the Monsoon' is associated with which of the following?
Options :

1. ¥ Abrupt onset of monsoon rains

2. % Intense cyclonic activity

3. <7 Temporary cessation of monsoon rains

4

. % Prolonged dry spells during monsoon

Question Number : 84 Question Id : 630680700354 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

YR B §eb 37 A &1 e Fafaad § 9 frad et 32
Options :

1. % HFRE SRS BT e & I g

2. % i Fehard! Mcfafd

3. A auf &t syt e

4. % U $ SR 8 GHT 9% T R 6T

Question Number : 85 Question Id : 630680700353 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Simon Commission, appointed in 1927, was boycotted by Indian political parties because:
Options :

1. ¥ It recommended the partition of India.

2. </ It lacked Indian representation.

3. ¥ It advocated for harsher colonial policies.

4. ¥ It supported the Rowlatt Act.
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Question Number : 85 Question Id : 630680700353 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1927 o, A0 HHIRM, BT URARI ST aal gRT Sig&hR (931 1 ifdh:
Options :

1. ¥ 3G URd & [qUISH 1 RIBIR &1

2. 3 YR Ufdi1ea 1 31419 o
3. 8 3O HAR SMUMARID ! &I HId i
4. % T AAC AT BT FwHY fear

Skill Based
Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Is Section Default? : null

Question Number : 86 Question Id : 630680700054 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Match items in Column A with items in columns B.

Column A: Physical Column B: Description or Method

Examination Techniques

1. Inspection A. The use of the hands to feel for texture, size,
consistency, and location of body structures

2. Palpation B. Listening to sounds produced by the body,
usually using a stethoscope

3. Percussion C. Involves tapping on the body to assess the
underlying structures and detect abnormalities

4. Auscultation D. The systematic visual examination of the
body for signs such as color changes, swelling,
or abnormalities

Options :

1. ¥ 1-A, 2-B, 3-C, 4-D
2. % 1.D, 2-C, 3-B, 4-A
3. % 1-D, 2-C, 3-A, 4-B
4.7 1-D,2-A,3-C,4-B

§

Question Number : 86 Question Id : 630680700054 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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DITH A H 3M5cH DI BT B H 3MgeH I fHamd|

PHiaH A: IRING Wi | Siad B: fqaRur 4T fafe
1. FA1eor A. TRR P TR I §H1de, MBR, R
3R R B He Y B & (oW g1l 1 ST
2. TRIURje B. 3R TR TYURPIU HT ITAIT P IRR
RT3 Al I gl

3. 2fTeTd C. JfAFRd ST B 3MHaT P 3R
STATIATRAT BT Ul TTH o fid IRR R e
HAT A

4. GRsfau D. {1 URGcH, Yo, a1 SRS o Hebdll
& fo IR 31 Hafya e Sifg

Options :

1. ¥ 1-A,2-B, 3-C, 4-D
% 1-D, 2-C, 3-B, 4-A
% 1-D,2-C,3-A,4-B

 1.D, 2-A, 3-C, 4-B

bl N
¢

Question Number : 87 Question Id : 630680700058 Is Question Mandatory : No Calculator : None Response Time
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Organize the elements of antenatal care in the sequence typically adhered to during assessments.
A. Building a connection

B. Assessment interview for fostering trust between the doctor and the pregnant woman

C. Gathering details about the woman's physical and psychological well-being

D. Providing the foundation for anticipatory guidance during pregnancy

Options :

1./ BACD

2. % ABCD
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3. ¥ DCAB
4. % CBDA

Question Number : 87 Question Id : 630680700058 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

ST & SR SHTHAR TR UTer U ST aTet igshH H Fad SQHTel o dedl Bl oaid |
A. TG T

B. STdex 3R Miadt afgar & e fayr dem & g gedie TereR
C. TR &1 ARING SR AFIGHE YA & qR H f9av01 SH51 ST
D. THIGRIT & SR TR AFERH & T SR Uem &RAm
Options :

1.7 BACD

2. % ABCD

3. % DCAB

4. % CBDA

Question Number : 88 Question Id : 630680700055 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Arrange the steps in the correct order for the management of biomedical waste.

Options :

1. ¥ ABCDE
2. ¥ BCEAD
3./ BECAD
4. % EDCBA
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Question Number : 88 Question Id : 630680700055 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Siafafeaii oIy & yded 3 U =Rul H1 T6l 1 A aieud Bl
B C

D E

A

Options :

1. ¥ ABCDE
2. % BCEAD
3.« BECAD
4. % EDCBA

Question Number : 89 Question Id : 630680700065 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0
The given below diagram represents various methods used for sterilizing nursing instruments. Label each method accordingly.

Options :
1. ¥ A. Autoclave B. Dental boiler C. Electric instrument sterilizer D. Formalin chamber
2. </ A. Formalin chamber B. Autoclave C. Electric instrument sterilizer D. Dental boiler

3. ¥ A. Formalin chamber B. Autoclave C. Dental boiler D. Electric instrument sterilizer
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4. % A. Dental boiler B. Autoclave C. Formalin chamber D. Electric instrument sterilizer

Question Number : 89 Question Id : 630680700065 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

F e wma ferr R SUSRON B TR HRA & o ST 3 o arcit fafvs fafaat @1 e ¥ 1 vl Al ) qegaR dea
A B

NG
“

Options :

1. % A EIEIT B. ST SR C. 3ATaedh IJUBUN TRABTR D. BIH e 9=
2.7 A. BIHT TR B. 3TAIG0d C. Saiided IUHRUT TIATZOR D. ST S1IeR
3. % A BIHRM & B. AEIRIG C. ST §IeR D. Safaed IUHRU WAZoR
4. % A Sea SIIER B. SIS C. HIAH FFaR D. 3afdd Sighe TRARIR

Question Number : 90 Question Id : 630680700046 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the drug administration route with the correct description.

1. Administration directly into the bloodstream A. Oral drug administration

2. Administration into the fatty tissue beneath the skin [ B. Intra muscular injection

3. Administration through mouth C. Bone marrow injection

4. Administration into the muscle D. Subcutaneous injection

5. Administration through intraosseous E. Intra venous injection
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Options :

1. ¥ 1-B, 2-D, 3-C, 4-A, 5-E
2. ¥ I-E, 2-D, 3-C, 4-B, 5-A
3. ¥ 1-A, 2-B, 3-C, 4-D, 5-E
4. 1-E, 2-D, 3-A, 4-B, 5-C

©

Question Number : 90 Question Id : 630680700046 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

<al U A1 T et faavur & Iy s &8

1. ¥ YdYare | U= A. HIRIP I TRIH
2. 91 & ~I1d G Sdd | UM | B. 3fd: URM SolaeH
3. 1 R U= C. 3R Al SolaRH

4. U= H U= D. XTI Sofa=M
5. JfHTHIRRN Hre ¥ YR E. 3{aR1 FRRT S91aRM

Options :

1. ¥ 1-B,2-D, 3-C, 4-A, 5-E
2. ¥ 1-E, 2-D, 3-C, 4-B, 5-A
3. 8 1-A, 2-B, 3-C, 4-D, 5-E
4.7 1-E, 2-D, 3-A, 4-B, 5-C

b

Question Number : 91 Question Id : 630680700051 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the Sequence of the tests to evaluate hearing to determine whether you have hearing loss and in what part of your ear the problem is
located.

1. Sound detection

2. Visual exam of the external ear canal (otoscopy)

3. Middle ear check

4. Hearing history

5. Word recognition

Options :
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1. %2,4,3,5,1
2.93,2,1,5,4
3.94,2,3,1,5
4. % 1,3,4,2,5

Question Number : 91 Question Id : 630680700051 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Tg Faffd o= & e fas o smue) Gom o1 31 § STR T Siud o & 69 T H §, G 31 &a B Jedic o3 B 1o1g TIeon
& SHH DI AU D

1. G BT Yl &I

2. S8R BT TeR B1 €2 WIeH (SAeeprdn)
3. qABE DI AT

4. 49Uy SfAg™

5. R[eg Ugd

Options :

1. %2,4,3,5,1

2.%3,2,1,5,4

3.v4,2,3,1,5

4.%1,3,4,2,5

Question Number : 92 Question Id : 630680700057 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the Following Steps in the Rapid Diagnostic Test (RDT) for Malaria:
A. Observe the appearance of test lines for malaria antigens

B. Add the patient's blood sample to the test strip

C. Apply a buffer solution to the sample well

D. Wait for the specified time for results

Options :

1. ¥ ABDC
2. ¥ DCBA
3. % CDAB
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4. <7 BCDA

Question Number : 92 Question Id : 630680700057 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

T & fore YA Saiifes ¢ (RDT) B FREfiad @Roll &) e ¥
A. TR gfae & o utern arsi &1 IufRufa &1 F-lerr a3

B. 0 & 390 & T DI TRIE0 Ugl RIS

C. T TR TR U 3] aRg § TG

D. URUH & 7T (e wwg o1 ucfian s

Options :

1. ¥ ABDC

2. ¥ DCBA

3. ¥ CDAB

4. <7 BCDA

Question Number : 93 Question Id : 630680700062 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Organize the stages of the oxygen cascade in the appropriate sequence.
A. Dispersion from capillary to cellular level

B. Blood's transportation capacity

C. Pulmonary absorption

D. Localized allocation of oxygen distribution

E. Transfer from lungs to tissues

F. Utilization of oxygen at the cellular level

Options :

1. </ CBEDAF

. ¥ BACDEF

. ¥ CBDEAF

. ¥ BAFDEC

AW N
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Question Number : 93 Question Id : 630680700062 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Ao Hps & IRl B 3fd v H H afyd |
A. BRISTY HIRGT TR 96 Had
B. Y& &1 URag &l
C. TR TRy
D. JHTafior faa=ur o RIFagd e
E. BWsl ¥ 3dd! db RAMHIARUl
F. DRI TR W STl BT IudinT
Options :

1. < CBEDAF
2. 8 BACDEF
3. ¥ CBDEAF
4. ¥ BAFDEC

Question Number : 94 Question Id : 630680700066 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the oral drug administration term with its corresponding description:

1. Absorption A. The percentage of a drug that reaches the
systemic circulation after oral administration.

2. First-pass B. The process by which a drug moves from the

metabolism site of administration to the bloodstream.

3. Bioavailability | C. The metabolism of a drug that occurs in the
liver before it reaches systemic circulation.

4. Enterohepatic | D. The recycling of drugs between the liver and
circulation the small intestine. influencing drug concentration.

Options :
1. <7 1-B, 2-C, 3-A, 4-D
2. 8 1-A, 2-B, 3-C, 4-D
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3. ¥ 1-B,2-A, 3-C, 4-D
4. % 1-A,2-C,3-D,4-B

¢

Question Number : 94 Question Id : 630680700066 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AiRa% a1 URINH e BT IUH TId faavul & WY fHaH &

1. 3{IRIY] A. [ Ul &d1 &1 Ufdwrd ol AiRAP U= &
qIE AT UNTERU g Ul g

2. UYH-U 9a9<d | B. 98 Ulshdl o GRI dls &al U= &
RIS Y IgAYArg d ol 3

3. Vg3 U/l C. [l <a1 &1 Tuuad ol FHTS

IR 0 T W U89 TPhd A Bl 8l
4. TRIgUReD D. TP AR BICT 3fd & did Garsf bl
GRERYT %ﬂdwuv,ﬁm@famaﬁmumﬁaa‘cﬁ

Options :

1.+ 1-B, 2-C, 3-A, 4-D
2. ¥ 1-A,2-B, 3-C, 4-D
3. ¥ 1-B,2-A, 3-C,4-D
4. % 1-A,2-C, 3-D, 4-B

¢

Question Number : 95 Question Id : 630680700071 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is the correct sequence of steps in conducting an auditory assessment?

A) Pure-tone audiometry, otoscopy, speech audiometry

B) Speech audiometry, otoscopy, pure-tone audiometry
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C) Otoscopy, pure-tone audiometry, speech audiometry
D) Otoscopy, speech audiometry, pure-tone audiometry

Options :

1. ¥ Only A

2. ¥ BothBand C
3. Only C

4. ¥ BothA and B

Question Number : 95 Question Id : 630680700071 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fafifed & S 91 49U 3Teha B3 § =R BT Tel HH g2

A) T SR TSR, SNEran g, Wi Seamd
B) Wi Sifeaid], siicRat, g -wR sfifsaic!
C) SR, g R SHifSamet, Wi sifsamct
D) 3iCp U], T TSI, T IR Sifediie]
Options :

1. ¥ BAAA

2. % B3R MY

3.2 %qAcC

4. % AR BTH

Analytical and Communication Skills

Section type : Online

Section Negative Marks : 0

Enable Mark as Answered Mark for Review and Clear Response : Yes

Maximum Instruction Time : 0

Is Section Default? : null
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Question Number : 96 Question Id : 630680699724 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the option that is related to the third word in the same way as the second word is related to the first word.
Chair : Furniture :: Pen : ?

Options :
1. ¥ Pencil
2. 7 Stationery
3. % Book

4. ¥ Cloth

Question Number : 96 Question Id : 630680699724 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

I faheq BT o B3 ol 1R g I I TR J Yeifird & o TR & g1 21 U Weg A TR &1
W:W‘ﬁ?::w:?

Options :

L8Y

2. R

3. % gx@

4. 8 ®US[

Question Number : 97 Question Id : 630680699726 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

Three Statements are given followed by two conclusions numbered I and II. Assuming the statements to be true, even if they seem to be at
variance with commonly known facts, decide which of the conclusions logically follow(s) from the statements.

Statement I: All circles are spheres.
Statement II: All spheres are cones.
Statement III: No cone is a cube.

Conclusion I: All circles are cones.
Conclusion II: No sphere is a cube.
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Options :
1. € Only conclusion I follows
2. % Only conclusion II follows
3. 7 Both conclusions I and II follow
4. ¥ Neither conclusion I nor II follows

Question Number : 97 Question Id : 630680699726 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A B2 feu e & 9% a1 <) ey somifed 1 3R 1 T 70 B | et 1 9o A gY, M € I e aet d s welia S €,
frofar & o 1 1 ] e =0 & BT BT SHRROT el (34 B

UL IR T IR
oo 11: 1 A W% B
HY 111: IS T T TSI 81

sy 1. ot g TP § |

o 11 Y ot e e Y R
Options :

1. % Fad frshy 1 SR SR &

2. % Haq Frspy 11 SR AT 2

3. e 1 3R 11 ST SRR Ra §
4, ¢ AHY 1 SIRAE 11 IRV FRATR

Question Number : 98 Question Id : 630680699725 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Five friends A, B, H, 1, and J are sitting around a circular table facing oppsosite to the centre. B is an immediate neighbour of both A and J. I sits
to the immediate left of J. Who sits to the immediate right of A?

Options :
1.<“H
2.91
3.97

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 73/75

4/1/24, 3:56 PM g06.tcsion.com/CAE/viewHtmIPDFAction.action
4. % B

Question Number : 98 Question Id : 630680699725 Ts Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

U i A, B, B, 1 3R ] TF TR 391 & GRI 3R % I R T HIb 96 81 B, AR J B 3B A A §31 51 1, J & 31 arit SR 9317
A% 31 TR 3R B 931 82

Options :

1.<“H

2.9 1

3.97

>

4.« B

Question Number : 99 Question Id : 630680699249 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The HR department sends out an email to all staff detailing the new dress code policy (for working days as well as weekends) that will be
effective from the next month. This is an example of:

Options :

1. ¥ Informal communication, because it uses email, which is quick and easy.

2. ¢/ Formal communication, because it is an official announcement from the HR department.
3. ¥ Informal communication, because dress codes are not important.

4. ¥ Formal communication, because it talks about weekend plans.

Question Number : 99 Question Id : 630680699249 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The HR department sends out an email to all staff detailing the new dress code policy (for working days as well as weekends) that will be
effective from the next month. This is an example of:

Options :

1. ¥ Informal communication, because it uses email, which is quick and easy.

2. </ Formal communication, because it is an official announcement from the HR department.
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3. ¥ Informal communication, because dress codes are not important.

4. % Formal communication, because it talks about weekend plans.

Question Number : 100 Question Id : 630680699252 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Four words are given, out of which only one word is spelt correct. Choose the correct spelt word.
Options :

1. ¥ REMINISENCE

. ¥ HIEARCHY

3. «# CONSCIENTIOUS

4. ¥ CATHEDERAL

N

Question Number : 100 Question Id : 630680699252 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Four words are given, out of which only one word is spelt correct. Choose the correct spelt word.
Options :

1. ¥ REMINISENCE

. ¥ HIEARCHY

3. <¥ CONSCIENTIOUS

4, ¥ CATHEDERAL

N
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